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Question 1 Consider the curve r(t) = cosh ti — sinh £j + tk. Find the following

(a) The velocity v(t)
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) The speed |v(t)
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(c) The acceleration a(t)
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Question 1 Consider the function f(z,y) = In(z? + y? — 1). Find the following

@ (a) Domain of f.
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b) Range of f
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) Sketch the domain.
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@(d) Find the boundary of the domain.
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O ) Sketch some level curves of f.
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@ (f) Is the domain open or closed.
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@ (g) Is the domain bounded or unb;fjdz
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Question 1 Find the limit or show it does not exist
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Question 2 Let f(z,y) =

O %=
@ 761(&"

@ébb=
Q4o -

STUDENTS-HUB.com

-y

T+ J’MX

\ —v\

DN e
|

tan(zy). Find fy, fy, foe, fyy, foy-
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